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1- True or false?

a) The vortage across a capacrtor can never change abruptly l:
£ ﬂ/// 1 1l Csy ¢ a 10 a4

b) The response of an RLC network to a step function is always'proportional, to the
height of the step. f o

[5p)
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The differential equatron governing a Crrcwt that includes 2 Capacitors and 2
inductors is always a 4" order equation. +alSe , Hi ‘ & A fyoa i
d) The Laplace Transform of all real functions is always convergent but it may or

Mmay not converge for complex functions. ) ) 2 o

(2.5+2.5+2.5+2.5=10 points)

N—




- Name: Page:3/8
" . . Ci="1F
2- Find v,,,(1) for all ¢ if the switch goes from @ f
position 1 to position 2 to at s = 0 and back to ‘}k 3] _
position 1 at 7 = 1 sec. The circuit had been at o+ O R=1Q]
rest for a long time before 1 = 0. - 3_"”’"
2= 12

(30 points)
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, 3- A) Without using the Laplace Transform, find the
/ impulse response of a circuit, with input /(1) and output A 1)
v(1), governed by this equation: o

yEF S

vV ~

B) Without using the Laplace Transform, find the
complete response of this circuit to the input A1)
shown here, if y(0")=1.
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4- A) Find the complete response for v,,(/) when the

inductors have initial currents i;,(07) and i,2(0) at =0

You can use the Laplace Transform if you choose to. +

B) Determine the condition for i;;(0°) and i,>(0") for io=un @
which the exponential part of the response becomes 1Q
equal to 0.
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